
595 ÷17 =______ 
 
 
 
 
 
 
 
 
 
 
 

851÷   23 =________ 

9- 2.34= 
 
 
 

7- 5.005= 

12- 4.56= 
 

8 + 5.67= 

9 + 8.99= 
 
 
 

1 – 0.003= 

____ - 18 = 35 
 
 
 
 
 

____ - 134 = 78 



230+ ___ = 255 
 
 
 
 Tickets to the match cost 
£17. £612 worth of tickets 
are purchased. How many tickets 
have been sold? 
 

167 + ____ = 302 

There are 2300 leaflets in a box. Jo 
and Sam take 350 each. Chen and Rob 
share the rest equally. How many 
does Chen have?  
 
 

 

The bottle holds 2 litres of juice. Two 
children each drink 450ml. How much 
juice is left?  
 
 

 

I buy three books. I get £5.75 change 
from £20 . How much did one book 
cost? 
 
 

 

A packet of pasta weighs 3 kg. One 
portion weighs 50g. How many 
portions are there in the packet?  
 

 

A piece of string is 5 m long. I cut off 
two pieces one of 230cm and one of 
75cm. How much string is left? 
 

 



The school buys 24boxes of rubbers. 
Each box contains 52 rubbers. The 
school uses 950. How many are left?  

 

 


